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Home Assignment Examination,2024-2025
Subject -MATHEMATICS

SEMESTER - IV

TITLE OF THE PAPER - Mechanic (DSE) MAX. MARKS 20

Section -A 4x1=4

(1) $feadr Fr gfemar R_Af@T?
Write the definition of catenary

(2) $RAGFRT s3I v& 7 FEy ARET
Write the relation between S and Y for catenary .
(3) WA FEAN F wfei T @

Write the cartesian equation of the Common Catenary.
(4) el @1 e aHor RfgT?

Write the Nage equation of catenary.

Section -B 2X3=6

(5) TR FETY & T Wierwed A HifSw?

The Common Catenary to Find Approximations
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Prove that if a uniform inextensible chain hangs freely under gravity. the difference in
between the stresses if two points is proportional to the difference between their heights..

Section -C 2X5=10
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a[3\log(2+V3)+4n/3] g1 |

Show that a length of endless chain suspended over a circular pulley of radius a such thatitisin
contact with two-thirds of the circumference of the pulley is. a[3\log(2+Vv3)+4n/3]
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Ft Y@t Fr e gFE ¥ ,ar tana/tanp = 1+W/W'

A homogeneous string of weight W is hung from two points at the same level and a weightw’ is
attached to it's lowest point.If and a are the inclinations of the tangents at the highest and lowest
point to the horizontal are a and P respectively .Then show that tana/tanf = 1+W/W'
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